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UIL ACCOUNTING

District 2005-D2

Group 1

A bookkeeper needs your help to analyze a trial balance that is out of balance.  The debit column total is $70,270 and the credit column total is $72,850.

After a thorough review, you find that all transactions were journalized correctly, but one journal entry was posted to the ledger incorrectly.  The transaction was a sale on account (not subject to sales tax) that was posted with a $1,290 credit to Sales and another $1,290 credit to Accounts Receivable.  The trial balance (before correction) shows Accounts Receivable with a debit balance of $11,180 and Sales with a credit balance of $33,915.

For questions 1 through 4 use the following code:

A. Overstated
B. Understated
C. Correctly stated

1. The debit column total of $70,270 is _?_.

2. The credit column total of $72,850 is _?_.

3. The balance of $33,915 in Sales is _?_.

4. The balance of $11,180 in Accounts Receivable is _?_.

For questions 5 and 6 write the correct amount on your answer sheet.  Consider that the above-mentioned posting error has now been corrected and that the trial balance is also corrected.

5. What is the correct credit balance of Sales?

 * 6. What is the correct debit balance of Accounts Receivable?

Group 2

Selected information from the work sheet of Surfside Company is shown below.  For questions 7 through 9, write the correct amount on your answer sheet.

	ACCOUNT TITLE
	TRIAL  BALANCE
	ADJUSTED TRIAL BALANCE

	                                                            
	DEBIT
	CREDIT
	DEBIT
	CREDIT

	Prepaid Insurance
	       Q#7
	
	2,920
	

	Supplies
	7,875
	
	2,447
	

	Merchandise Inventory
	64,870
	
	       Q#8
	

	Income Summary
	
	
	1,890
	

	Insurance Expense
	
	
	1,955
	

	Supplies Expense
	
	
	       Q#9
	


Group 3

For each account title in questions 10 through 16, write the identifying letter of the correct response (A, B, or C) which indicates whether each account should be closed and where, or if it should not be closed at all.  If the account is to be closed, indicate whether that account is closed with a debit or a credit.  Use the following sets of codes.  An answer might appear in this way:
B  DR





A. closed to Income Summary

DR=debit





B. closed to the capital account
CR=credit





C. not closed

10. Repairs Expense

11. Prepaid Insurance

12. Sales

13. Cash

14. Andrea Diaz, Withdrawals

15. Purchases Discounts

16. Income Summary (when beginning inventory was $10,000; ending inventory was 

      $12,000; and there was a net loss of $3000.  Revenues and expenses have already

      been closed).

Group 4

Various account titles from the work sheet of a profitable service business (under normal circumstances) are listed below with identifying letters.  In questions 17 through 22, identify which account would reflect each condition given across the work sheet.  Write the identifying letter on your answer sheet.

	A
	Accounts Receivable
	
	D
	Income Summary

	B
	Edna Burns, Capital
	
	E
	Insurance Expense

	C
	Fees Earned
	
	F
	Prepaid Insurance




Trial





Income 

    Balance

    
 Balance

   Adjustments
         Statement

      Sheet
17. credit balance

N/A

     credit balance

        N/A

18. debit balance
    
N/A


   N/A


debit balance 

19. debit balance
   credit amount

   N/A

   
 debit balance     

20. 
N/A


N/A


   N/A


        N/A

21. credit balance

N/A


   N/A


credit balance

22. 
N/A

    debit amount
      debit balance

        N/A

Group 5

Use the following chart to answer questions 23 through 26.  Write the identifying letter of the best response on your answer sheet.

  1. Cash




 



  2. Accounts Payable


  

  3. Macy Jensen, Capital


  

  4. Macy Jensen, Drawing



  5. Income Summary (debit balance)


  6. Income Summary (credit balance)


  7. Sales

  8. Sales Returns and Allowances

  9. Purchases

10. Purchases Discounts

11. Transportation In

12. Salary Expense

23. A credit is used to close the following accounts:


A.  6, 7, 10


B.  4, 5, 8, 9, 11, 12


C.  1, 4, 5, 8, 9, 11, 12


D.  2, 3, 6, 7, 10

24. A credit will decrease the following accounts:


A.  2, 3, 7, 10


B.  1, 4, 5, 8, 9, 11, 12


C.  5, 6, 7, 10


D.  1, 8, 9, 10

25. A credit will increase the following accounts:


A.  1, 2, 4, 8, 9, 12


B.  1, 4, 5, 7, 11, 12


C.  2, 4, 8, 9, 11, 12


D.  2, 3, 6, 7, 10

26. A debit is used to close the following accounts:


A.  2, 3, 6, 7, 10


B.  1, 4, 5, 8, 9, 11, 12


C.  6, 7, 10


D.  8, 9, 11, 12

Group 6

Reconcile the bank statement using the T-account form.  (The form will not be reviewed by graders.)

	Kay’s Flower Shop

	Bank Reconciliation

	February 28, 2005

	Bank Statement Balance, 2/26
	
	Checkbook Balance, 2/28
	

	Add: 
	
	Add:
	

	
	
	
	

	Deduct:
	
	Deduct:
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


On March 1, Kay Javier received her shop’s bank statement dated Feb. 26.  The accountant reviewed it and other accounting records and found the following facts:


1. The ending bank balance was $1,634.42


2. The checkbook balance on Feb. 28 before reconciliation was $1,342.35


3. The bank charged $16.21 for the month’s service charge


4. The following checks were written in January, were outstanding in January, 


    and still did not appear on this bank statement:



check #1141…$36.00
check #1150…$79.43


5. The following checks were written in February and did not appear on this


    bank statement:



check #1181…$250.00

check #1185…$55.49



check #1183…$43.29

check #1186…$72.41


6. A check in the amount of $74.82 from Sue Porter that Kay deposited 


    on Feb. 20 was returned by the bank for insufficient funds.  The bank 

               charged Kay’s account $15 for handling the NSF check.  No journal entry 

               has been made yet by Kay for the NSF check or its related fee.


7. A deposit of $684.32 made on Feb. 27 does not appear on the bank


    statement.


8. A check Kay wrote for $565.80 made out to Best Floral Supply was


    lost in the mail and has never been cashed.  A stop payment order, which 


    cost $20 was issued by Kay’s bank on Feb. 27.  Kay has not yet prepared a

               replacement check.

For questions 27 and 28 write the correct amount on your answer sheet.

* 27. What is the total of the deductions listed on the bank statement side of the

      T-account form?

* 28. What is the reconciled bank balance as of February 28, 2005?

Group 7

Nine transactions are recorded in the T-accounts below.  Analyze the transactions and answer questions 29 through 37.  On your answer sheet write TRUE if the statement is true or FALSE if the statement is false.

     Cash In Bank                        Accounts Receivable                           Supplies

	(1) 3,000
	500 (2)
	
	(6) 2,250
	3,000 (1)
	
	(2) 500
	

	(4) 2,000
	3,500 (3)
	
	
	2,250 (8)
	
	
	

	(8) 2,205
	1,485 (9)
	
	
	
	
	
	

	
	
	
	
	
	
	
	


 Accounts Payable                              Purchases                           Purchases Returns & Allow.
	(9) 1,500
	1,500 (5)
	
	(3) 3,500
	
	
	
	2,000 (4)

	
	6,000 (7)
	
	(5) 1,500
	
	
	
	

	
	
	
	(7) 6,000
	
	
	
	

	
	
	
	
	
	
	
	


Purchases Discounts                                Sales                                   Sales Discounts

	
	15 (9)
	
	
	2,250 (6)
	
	(8) 45
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	


29. Transaction (1) indicates a customer paid within the discount period when the

      terms of sale were 2/10, net 30.

30. Transaction (2) indicates that supplies were purchased out of the petty cash 

      fund.

31. Transaction (3) indicates that merchandise for resale was purchased by check.

32. Transaction (5) indicates merchandise for resale was purchased by check.

33. Transaction (6) indicates merchandise was sold to a customer on account.

34. Transaction (7) indicates merchandise was sold to a customer on account.

35. Transaction (8) indicates a customer paid on account in full, within the discount

      period, receiving a 3% discount.

36. Transaction (9) indicates payment on account in full, within the discount period,

      receiving a 1% discount.

37. At the end of the fiscal year when half of the supplies have been used, failure to

      prepare an adjusting entry to reflect the usage will cause net income to be

      understated.

Group 8

For items 38 through 41, write the correct amount on your answer sheet.

	Company

Name
	Ending

Amt. of

Assets
	Ending

Amt. of

Liabilities
	Beginning Amt. of Owner’s Equity
	Withdrawals for the period
	Revenue for the period
	Expenses for the period

	Hop Co.
	55,429
	24,916
	Q#38
	16,000
	87,648
	52,911

	
	
	
	
	
	
	

	Skip Co.
	89,629
	35,005
	67,754
	25,000
	Q#39
	80,615

	
	
	
	
	
	
	

	Jump Co.
	74,615
	Q#40
	54,134
	15,000
	110,683
	* Q#41

	
	(Jump Company’s total owner’s equity after adding revenue and subtracting expenses and withdrawals is $56,005.)


Group 9

Use the following information (arranged in alphabetical order) to answer questions 42 through 47.  Write the correct amount on your answer sheet.

	Beginning inventory
	                ?

	Cost of delivered merchandise
	59,208

	Cost of merchandise available for sale
	80,066

	Ending inventory
	              ?

	Gross profit
	35,440

	Net purchases
	52,851

	Net sales
	86,441

	Purchases
	               ?

	Purchases discounts
	               ?

	Purchases returns and allowances
	2,708

	Sales
	93,018

	Sales discounts
	                ?

	Sales returns and allowances
	2,782

	Transportation in
	3,749


42. What is the amount of beginning inventory?

* 43. What is the amount of ending inventory?

44. What is the amount of purchases?

* 45. What is the amount of purchases discounts?

46. What is the amount of sales discounts?

47. What is the amount of cost of merchandise sold?

Group 10

Van Syke Manufacturing pays employees in one of three ways based on their position: 1) a salary plus commission based on sales; 2) an hourly wage plus a piece rate; and 3) an hourly wage only.  Hourly wage employees also earn overtime at 1½ times the regular hourly rate of pay for hours worked over 40 in a week.

For questions 48 through 51, write the correct amount of gross pay for each employee on your answer sheet.

48. Sally receives a salary of $360 per week plus a 2.5% commission on sales, and she

      was responsible for $13,000 worth of sales this week.

* 49. Laurie earns an hourly wage of $18.50 and she worked 42 hours this week.

50. Bud earns an hourly wage of $17, and he worked 36 and ¼ hours this week.

* 51.  Bob earns an hourly wage of $16.50 and a piece rate of 11 cents.  Bob worked

       45 hours and produced 849 pieces.

Group 11

For items 52 through 66, write TRUE on your answer sheet if the statement is true or write FALSE if it is false.
52. A sale on account is paid for in cash when the goods are sold.

53. The total of the schedule of accounts payable must match the balance of the Cash 

       in Bank account.

54. Adding all debit balances and all credit balances of ledger accounts and then 

      comparing the two totals to see whether they are equal is called proving the ledger.

55. A wholesaler is a business that sells to the final user (consumer).

56. Gross profit is the difference between the net revenue earned from sales and the 

       total cost of merchandise available for sale.

57. Multicolumn journals with columns reserved for the recording of specific types of 

       transactions are called Sorting Journals.

58. Visa and Mastercard sales are recorded as though they were cash sales.

59. A bank may dishonor a check because the amounts written in figures and in words 

      do not agree.

60. The Income Summary account is unique because it does not have a normal balance 

       side.

Group 11 continued

61. Increases in capital also represent increases in assets.

62. The employer acts as a tax collection agent for the federal government.

63. Replenishing the petty cash fund increases the fund’s original balance. 

64. Cash shortages are liabilities and are debited to the Cash Short and Over account.

65. A sales invoice is also referred to as a sales ticket or a sales slip.

66. A separate closing entry is needed for each expense account.

Group 12

Refer to the information in Table 1 on page 10.  Write the correct amount on your answer sheet for items 67 through 72.

67. If the sales tax rate was 9%, what amount of taxable sales was required to generate 

      the liability on the December 31, 2004 balance sheet?

68. What amount of supplies was purchased in 2004?

* 69. What is the amount of total liabilities and owner’s equity as of 12-31-04?

70. What was the 1-1-04 balance of Prepaid Insurance?

* 71. What was the amount of net income for the year 2004?

 **  72. Assume that $300 of the customer receivables were collected and that all of the

      liabilities were paid on January 1, 2005.  What would be the amount of total assets 

      after these transactions?

Group 13

Refer to the data in Table 2 on page 11.  For questions 73 through 80, write the identifying letter of the best response on your answer sheet.  

For questions 73 through 78 assume that only the information in the January Payroll Register has been journalized thus far.

73. What amount must be posted to Salaries Expense?


A. $16,206.40
    B. $19,712
     C. $22,400     D. $24,113.60
    E. $28,593.60

74. What amount must be posted to Medicare Tax Payable as a credit?


A. zero       B. $324.80       C. $1,120       D. $1,388.80       E. $3,360     

75. What amount must be posted to Hospital Insurance Premiums Payable?


A. zero       B. $348
      C. $1,044
D. $1,392

Group 13 continued

* 76. What is the total amount of liabilities in the entry that includes a credit to Cash

       in Bank?


A. $6,193.60       B. $7,660.60      C. $9,670.45
 D. $9,699
E. $10,348.60

 * 77. What amount must be posted that represents net pay?


A. $9,363.40     B. $10,830.40     C. $12,729.55     D. $14,739.40     E. $16,206.40

 * 78. What was the amount of social security tax withheld from Sanjay’s gross pay?


A. $58.89     B. $72.48     C. $131.37     D. $561.72     E. cannot be determined

** 79. After the employer’s payroll tax entry is journalized, what amount must be posted


to Federal Unemployment Taxes Payable?


A. $151.04     B. $162.72     C. $167.52     D. $179.20     E. $224

  *** 80. What amount must be posted to Payroll Tax Expense for January?

       A. $1,713.60     B. $2,009.85     C. $2,021.53     D. $2,026.33     E. $2,038.40

THIS IS THE END OF THE EXAM.  PLEASE HOLD YOUR ANSWER SHEET AND TEST QUESTIONS UNTIL THE CONTEST DIRECTOR ASKS FOR THEM.  THANKS.

Table 1

(For questions 67 through 72)

	Campos Electronics

	Balance Sheet

	December 31, 2004

	Assets
	
	
	Liabilities
	

	Cash
	14,903    
	
	Accounts Payable
	3,610 

	Accounts Receivable
	875
	
	Sales Tax Payable
	2,718

	Merchandise Inventory
	     ?
	
	Total Liabilities
	6,328

	Prepaid Insurance
	1,345
	
	
	       

	Supplies
	825                
	
	Owner’s Equity
	

	
	
	
	Leeza Campos, Capital
	?

	Total Assets
	  $       ?
	
	Total Liabilities and

   Owner’s Equity
	   $   ?

	
	========
	
	
	========


The balance in the capital account on January 1, 2004 was $49,510.  The owner made an investment of $5,000 in the business in 2004 and withdrew $13,000 in cash for personal use.

The amount of Merchandise Inventory as of 12-31-03 was $36,755.  

On December 31, 2004 Merchandise Inventory was adjusted with a debit of $1,395.

Insurance was purchased twice during the year for $650 and $985.  During 2004, $1,565 in insurance expired.

Supplies Expense for 2004 was $3,635.  Supplies inventory as of 12-31-03 was $670.

Table 2

(for questions 73 through 80)

The following information is obtained from the payroll register for the month of January 2005 before any payroll entries are journalized and posted.  The company has a December fiscal year end.

	Regular Earnings
	19,712.00

	Overtime Earnings
	2,688.00

	Federal Income Tax Withheld
	3,360.00

	Social Security Tax Withheld
	1,388.80

	Medicare Tax Withheld
	324.80

	State Income Tax Withheld
	1,120.00


4 employees had $348 each deducted for hospital insurance.

3 employees had $25 each deducted for donations to UNICEF (a charitable organization).

The January gross pay per person is as follows:

	Name
	Gross

Pay

	Ed
	2,060

	Kent
	8,460

	Sanjay
	9,060

	Mike
	2,820


Other Information about the year 2005:

The maximum earnings per person subject to Social Security tax is $90,000.

All earnings are subject to Medicare tax.

The employer and employee tax rates are the same as applicable.

The federal unemployment tax is .8% on a per person maximum of $7,000.

The state unemployment tax is .65% on a per person maximum of $9,000.
